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3. B Kruskal — Wallis
Mann — Whitney °
Kruskal — Wallis Mann — Whitney N
{ Do
A)
1. o
2010 € )
N B 100
3
P
19 71.0 54.8 54.6 0.36 1.05 0.015
13 63.1 44.8 55.7 0.97 1.34 0.014
31 36.54 | 29.94 | 18.77 | 1.42 1.31 <0.005
30 33.77 | 25.86 | 20.20 | 1.74 1.56 <0.005
Anderson — Darling 3 3
N N N P
0.05 °
2. o
Kruskal — Wallis B
4 Kruskal — Wallis
N VA
19 54.84 60.3 2.42
13 44.80 52.2 0.74
31 29.94 44.9 -0.53
30 25.86 38.5 -2.10
93 47.0
H =8.30DF =3P =0.040
H =8. 30DF =3P =0. 040( )
4 H =8.30 P P(x2(3) =8
30) =0.04 <0.05 P
0.05 B

Mann — Whitney :
5 Mann — Whitney

( ) |( ) |( )
ETAT -
ETA2 5.90 7.66 3.01
W 332.0 327.0 1033.0
0. 2449% 0. 1909%
ETA1 = ETA2 ETA1 = ETA2
ETA1 > ETA2 ETAl > ETA2 0. 1512%
ETAI1 = ETA2
0. 2449% 0. 1909% ETAl > ETA2
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5 > >
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3. o
Kruskal — Wallis o
6 Kruskal — Wallis
N VA
19 28.80 60.4 2.42
13 20.76 50.7 0.53
31 17.30 44.4 -0.67
30 15.52 39.7 -1.81
93 47.0
H =7.42DF =3P =0. 060
7 Kruskal — Wallis
N 7Z
19 26.04 59.5 2.27
13 24.04 55.1 1.16
31 12.93 44.4 -0.66
30 10.81 38.3 -2.16
93 47.0
H =8.70DF =3P =0.034
H =8.70DF =3P =0. 034( )
6 H=7.42 P P(x2(3) =
7.42) =0.06>0.05 P
0.05 o
7 H=8.70 P P(x2(3) =
8.70) =0.034<0.05 P
0.05 o
Kruskal — Wallis P 0.04.0.06.0.034.
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